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1) Complet thesestataments.

) 1 pod containg 3 peas.

5) 3 pods contain____peas.
9 pods contain 21 s,
@) 12 pods contain__pes.

2) Which statements match this image? Cirle tham.

5x3s15
3-5.18
3x5e18
B53ss
5-3:18

3) Complet thesestataments.
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1) Pippa has used diffrens model  rpresent some facts from the hroe times tabl.

mos some mistakes. Do you agree

with Paulo? Explain your regsons.

Paulosays she has

a) b)
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2) Pauto says, "Halfof the mumbers i the threstimes tab are odd numbers.” Explain why this s corrct
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Priya s planning how o arrange the table in her new cafe

seats 3 people seats 5 people

1) Priga hasa otal of 12 tablesbut ca'sremember how many are rectangles and ow many ae cirles. (She has at
least o of cach typeof table) How many people could she e into thecafé? Find llthe possibilte.

2) Priga thinks she il need enough seatsfor 38 people. How many of each table migh she use?
Find all the possbiliis

Explain o @ friend how you worked systematically.





